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Ke

6.1 A - Law of Sines

Homework: e Section6.1A

e Check your answers in the back!!

Objective:

SWBAT: Use the law of sines to solve oblique triangles
(AAS, ASA): Use the law of sines to model and

solve real-life problems

Do Now:

Solve the right triangle given (round to nearest hundredth):
A mZzZC=90°. mZA=37and b=17.3>

180°-37°-40° = B
B=53*

7235tan37° =4

az 554 C
2
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Law of Sines & Oblique Triangles

Oblique Triangles: Triangles with no right angles.

When solving oblique triangles, you need one side and
any other 2 parts (sides or angles).

4 Cases

Law ol { 1. Two angles and any side (AAS or ASA)
Sines 2. Two sides and angle opposite (SSA)
Law of § 3. Three sides (SSS)

Cosinesl + Two sides and included angle (SAS)
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Law of Sines

If ABC is a triangle with sides a, b and ¢, then

a b e

sind smB sinC

C

s B A c B

Triangles can be acute or obtuse!

You can use the Law of Sines to solve triangles when Y
you are given two angles and any side (AAS or ASA) y«
or two sides and angle opposite one of them (SSA). «
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P’ 'aC[l.Ce Law of Sines

If ABC is a triangle with side a, b, and ¢, then
a ¢

sin.d  sinB  sinC ‘

Use the Law of Sines to solve the triangle given B = 40°,
C =105° and ¢ = 20.

."' :35° a= /,188
A, B= 4° b= 133]
| C = /os* 20

b | ™ ‘=20
lw" (A’o"
I = RRAS X Degree mode

b =
A= 180°-105°-4p° G 20 = 2

SnC  SinB  Sinnms®  Sin
A= 35°

A0 N 4° = b Sinios b % 13,3/

S/n 105 3,0 103 °

e _ 4. 20 = a4
SinC  Sin A Sinns®  s5rn3S°

205/n35° = 9 5/n /03 ’“.o A~ 1), 88

Sin 165 ° Synis°
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P I'd ('[ [C'(f | Law of Sines

If ABC is a triangle with side a, b, and ¢, then
a [ ¢

sin.d  sinB  sinC

Use the Law of Sines to solve the triangle given 4 = 100e,
a =125 and c = 100.

A=100° q= 125
B=2802° b=59¢3
iy :5/48- c = /00

S5A
L B R o owe B= 186°-A-C
SinA SinC  Sinid  sipe B= 1309 /00° ~ 51445
JOD S5inwp® = /25 S/inC Bx 2802°
(25 /25 a b 125 —_b

3inC = 1005/ 100° SR SinB  Sin/we 5mn 2862

125 .
nwb® = /25 351/Nn23.02°
Sin~'( [005/n 100°) = ¢ b 5in /06 5 5,02

/125) 3/0100° SiNJ06°

C ~5.98° b¥s9¢3
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And more... Lo of Sines

If ABC is a triangle with side a, b, and o, then
a b <

sind  sinB  sinC’

Use the Law of Sines to solve the triangle given 4 = 5°40',
B =8°15"and ¢ = 4.8.

A=5%"a=~ 1.47

B=8°S' b= a.8¢

C= 08. A L’lg
c C= 136°-A-B
C= 180°-5°4p' - &°IS5'
C%166.08° or [0LC*S’

5°4o' 8IS

A c=4.8

A oy b b _ ¢

31NA Xt 3NB 3;nC

Qa o alelB b o B

SinS°40’  3in )i 08" 3in 8°15'  Sin 1e6.08°
O SN 166.08° = 4,8 510 5°40" | b 3N IL608°= 4.8 5in 8" IS’

3in 166:08" 37N 16L.08° | 3in1L4.08" S'n 16¢.08°
Q% .97 b 2.8
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Applications... Law of Sines

If ABC is a triangle with side a, b, and ¢, then
a b (4

sind  sinB sinC

Because of strong winds, a tree grew so that it was leaning
6° from the vertical. At a point 30 meters from the tree, the
angle of elevation to the top of the tree is 22.5°. Find the

height of the tree. (} A= 225° A= /,47m
B> 34° b=
C= 788" 2= om

i ol a = = 9 = 30
g- ::zo_z:!s 2 8&1 o SinA 51’06 5‘“22\56 5;” 73.50
¢= 13.5° 30 31n22,5° = 4 Sin 735"
3in 755° 5N 735

Q% 1147 meiers high

saving journal files Page 8



